PO“"’C;\’\J‘W)@ de @m@c’&{nm
e 20 | leod
o 20U ﬁfgg:%

. 201
V/ ¥ P ') '/: 2 ‘ / .
L 004 gx j?é?:?&' xiool= 3% = @l
204
. 100% - 367, = 64% + Chlbea
/ .
O N W, W, 1= HE (7, T\
i A
+ . . aoan/ = q. %
‘S';S%;’OQQ 2,5+ xro0d/l = 1641 % P
1Sa tabe \Se, o
1007 ~d$ 1Y, -16,97. ° 357 > O
/

3. dokl GsOr~ 257 e XVOO' 349,5% =C

H - 80U ma

O 3Wms SO UwmA YOS 7,787 @
| 250 v

o H1as7
. 00 7. 47,257 = 5257 5 O
V" | -
S0pa ¥ b 1334 ¥y00% = W61 K
._‘3‘3%@ K @tﬁ :

e 17,2 00 /- T_354% < Ce
W§ > O _56}? &7,

\COTe = 627 = 3813 O



@ 20U 7528
7 rressique e }\)

5 =)
,0 . 3
s 0ol om0, BN s = 36T

O+ i |

D) Se (V) 22,09 i “
LN Y _ w13, 24,
Vo5 11,01 2= 2&0&3 - Al G a | '
SY(UD‘B‘);? Qillléqg

/) NHO0, JE.0 k'\oou/. = 35,Q07.
N < 2203~ 8@5063
. N} HL\ ‘QO&"%” gO{OG)g
v/
d) H“O_g H\Olg V100, T o d3Y
- HMO, w7 63,004 |
/ éo {'(&SO\_[ ' .
Hys 21,0l 7 2023 20d ¥1007 = R,0577. F H
sTsz207q q%% |
Oq 3 4 x 1600, = 4100~ |
kel - 4’8(0"13 ‘ 59{(3.73 KO = 32(65”?5

98 KA

64\09; AR = 6SlAS'/,.;?O
tm:;& o .



7. JNo, -
USs yico% = 7,497,

/ O = 5“(53’-' dﬁg l@(iig

g" ﬂ\z\OB
v
Q) Tln = Sl 54U 100 = E31ar 7T
| BeA4 A :
oo/ Oy 2 2ol = 533 .
Wl v 86,74 4 jcos ~63ay, = 3681h 5 O

| ' = 5% Jem



[2- 205 G o 931
L G £ SO7 do veesw & Dabze

’C %§~ Gng Qg toloane  osh presauwt (3 ,§m$ g.;?%m& m&s%j
%u& } 3 3&%%&“«9 V

pE C “&"j‘ Cﬁ""'z gg){.iﬁu‘\ Ly e’xf“ﬁ{ﬁ% -ch PR v @%Mﬁ“& {s,gg‘
ﬁgs;@;e P B epmno -
&

2 350 f“ bHot0, ¥ 262 ;8§ Bda = Ofad =152

/ - B 2\ e
e &y 7 =7 '@& 7 53%5
19,34 % 25,04 3084
E:% ot B vsn g;{}i oy @ﬁ%ﬁ@_w -
S - Y
b Koy T 138,55 Aol Ld = 4rar. O
d@gqg ;ﬁ%gg

U6 ¥ ;3.1;553«% 3343 |
g fgieﬁc} ,%3}0 2 Jﬂgﬁ@ ol a7t =0 a3
231,34

Lo 7 o inT = f
Inmersie Aé} v 10797 ff ol lis?dﬁw;

@3 f’:«{zg%ﬁf vz; 3& Ac\

/

b e %i{@
3?%\ wq Con S, ‘Zmb}
137 gf\}ﬁ e Q%JJQE < 27,4 . “136-9&%(—? WW%% e
kﬁ”"ﬁ&"’gsﬁ“fm



FO5h C 216185 = 7057

+otal

bt Glon® 7,67 ¥ 3066457 23,

' {j;”

% § . % ¢ - ,
A P L Ly kY ;Ev y A
;""’Qm @i % ‘{_ﬁ’:,!‘k""“‘ ;{?-gf'ﬁa,f'&xm W ij 1 Ehe g : ﬁ“i Mi ' f;"’\.i /}
: o

. o
yEE g = i

E¥ g

. B E3

ast s o |
& B4
& S g Gt F

: P b

o enden ’{s‘)f? [ que Fus los riedi)s 7

e eend %rmﬁ{&fmiﬁ 2o O Auits
= Napes forigoes

w2

{i

-



